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Instructions
1. Solve all problems. (5 pt)
a. Write your name and ID on the top of every submitted page.
b. For each part, write your explanation/derivation and answer in the space provided.

2. ONE sub-question will be graded (5 pt). Of course, you do not know which part will be
selected; so you should work carefully on all of them.

3. Thereis no need to submit (or even print out) page 1 (this cover sheet).
Late submission will be rejected.

5. Write down all the steps that you have done to obtain your answers. You may not get
full credit even when your answer is correct without showing how you get your answer.
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Questions

1) [Alexander and Sadiku, 2009, PP2.2] For the circuit shown in Figure 1, calculate the voltage v

and the power p (dissipated by the 10kQ resistor).
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2) [Alexander and Sadiku, 2009, Q2.4]
a) Calculate current iin Figure 2 when the switch is in position 1.

Because the switch is in position 1, all the
current i flows in the CCW direction
through the left half of the circuit.
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b) Find the current when the switch is in position 2.
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same o node(S)
3) [Alexander and Sadiku, 2009, Q2.7] Find the number of brg@nches and nodes in each of the
circuits of Flgure 3.
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4) [Alexander and Sadiku, 2009, Q2.10] Determine i1 and i, in the circuit of Figure 4

m
(34 =0) Af(\yiﬂa KCL ot this
Afpl)l;nj KCL at Hhis nodej Figure 4 noc‘ﬂj we |lave

we \ncwc

4+ (-04) +#3 =0

iy =5 A
/01"-'?‘10'
by arrlying RCL ot
We wma check e answers C‘H’)’;"j KCL o
e top fﬂoc!e. 7

-4 va, tug —(-2) =0

-4 +3F -5 +2 =0/

\/'3

vie /131)4-;3_ 1""“11'

e k\nOV\J .



ECS203 2015 HW2 Name: ID:

5) [Alexander and Sadiku, 2009, Q2.14] Given the circuit in Figure 5, use KVL to find the branch
voltages Vito Vs, As hinted, we need Yo “fl’\)f KLV, (Zv=0)
Becowvie there ove four vaknown;, We need at lecot & I°°f‘ .
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Figure 5
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